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N-CH3 

2 x CH, Ar 

2.0 H 

1H adj. 

heteroatom 

1.0 H 

NMR solvent + 2H 

adj. heteroatoms 

(masked) 

0.9 H + 3.0 H 

2 x CH2 

(cyclic) 

OCH3 + 1H adj. 

heteroatom (masked) 

4.0 H 

2 x =CH 

1.9 H 

2H adj. 

heteroatom 

1.8 H 

  * 

* Denotes residual 

protium 
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N-CD3 

4 x CH, Ar 

or olefinic 

NMR solvent 

+ masked q 

NCH2 

2 x CH2 
>CH-OR 

2 x q, Ar 

(adj. O) 

2 x q, Ar 

>CH-OH 

  OCH3 

    NCH2 

Note:  Compound converted into its 

           free base for spectral clarity. 
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